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The Proof of Proposition 1

First period payoff functions of the players are:

N A+Z ifer =6, s _ A+2 ife =0
T1+$ if617é91 %
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while in the second period they get!

A+ X if e5 = 65 and no revolt nor coup
UN = ro + r if e # 65 and no revolt nor coup
0 if revolt or coup

e — A if e = 05 and no revolt nor coup
0  otherwise

A if e = 65 and no revolt

0 if es # 65 and no revolt
14 with probability 1 — ¢
0 with probability ¢

A

U? =4 «x

=

if revolt

+ if e = 65 and no revolt nor coup
% if es # 65 and no revolt nor coup
0 if revolt

US = X with probability ¢
A ¢ if eg =6 It but
+ 0  with probability ¢ te2 2, 10 Tevoll bul coup
X . 1.
) with probability ¢ . ¢ 0 It but
0  with probability ¢ if €2 7 0, no revolt but coup.

We use Sequential Equilibrium (SE) as the solution concept instead of the
more commonly used notion of Perfect Bayesian Equilibrium, since we have to
analyze a three-player game and Sequential Equilibria encompass the notion of
consistency which implies that players’ beliefs about the true type of dictator
agree out of the equilibrium path.

As usual, we work backwards to calculate the set of Sequential Equilibria.

IThe expected payoffs of the dictator and the selectorate when there is a revolt are nor-
malized to 0.



1. PLAYERS’ SEQUENTIAL RATIONAL CHOICES

As explained in the main text, in these principal agents models, the second
period choices are trivially given by their myopic best reply, exactly because it
is the last period. Hence, we will analyze the players’ behavior in the first-stage
game, assuming that the players will play their best responses in the second
final period.

1.1. Sequential rationality of the citizens

After knowing their first-period utility and the selectorate’s choice at the
end of the first period, the citizens choose between revolt (o« = 1) or not
(v = 0). This means that to derive the citizens’ sequential rational behavior, we
should consider four possible information sets: (§ = A,p=1), (§ = A, p=0),
(60=0,p=1), (6 =0,p=0), where in each information set, there are two deci-
sion nodes depending on the type of dictator. Let VZ(ald, p) be the expected
continuation payoff for the citizens when they choose « if (4, p) has been ob-
served. The expected continuation utility that the citizens will get after they
choose to initiate a revolution in (4, p) is:

VZ(a:1|6,p):(1—¢)><)1( Jox0=Xn, (A1)
Clearly, this payoff does not depend on their beliefs about the dictator’s type
and thus on (4, p). On the other hand, if the citizens decide to accommodate, the
continuation payoff will depend on their beliefs about the type of dictator which,
in turn, will depend on their information at the time of deciding. Therefore,
to find the citizens’ rational behavior, we need to consider the four possible
information sets:

1. (6=A,5=1)
2. (6=A,5=0)
3. (6=0,p=1)
4. (5=0,5=0)

and the citizens’ beliefs in these information sets. Their posterior beliefs
should be derived by Bayes’ rule, thus in general

oy (01) [1 = p (3, C)]
s () [1=p (O] + A =m)Ay (r) [1 = p (X, N)]

™ (1 _xf(el)) [1-p(3C)]

P2 (Cls=A,p=0)=

Z(Cl6=0,p=0) = — — — —
g A () e O + (- m) (1= X ) [ - p (R N)]
where

3 (01) :/_ M (11,01)dG(ry), with T € {C, N} .

Note that if p (X, T) = 1, there is a new appointed leader and thus, for any
5 e {0,A}
pZ (C)6,1) = 7.



Hence

T (6,p) = (A1)
s . [ (7 )] (57 p) = (07 1)
wAy (61)|1—p(N,C
p?(Cl6,p) = m\lc(el)[1—p(/\,08]+(1—7r)>\§v e [1=p(N)] (0,p) = (4,0)
m(1-37(01)) [1-p(X,C)]

©[1=37 (01) | [1=p(X,C)]+(1=m) [1=X7 (01) | [1=p(R.N)] (8,p) = (0,0)

Finally, note that first stage choice different from A{(ry,6;) = 1 for any r;

and thus ch (61) = 1, are dominated and thus can be eliminated by using
opportune refinements of Sequential Equilibria. Hence p? (C|0,0) is either 0 or
0

g i-e. indeterminate, however a standard forward induction argument? implies
that we can assume pu? (C|0,0) = 0 since the congruent type has no reason to
deviate to a inefficient policy. Moreover

2(Clo=ap=0) = S US UL
T[1=p(XCO)] + (L =mA; (61) [1 = p (A, N)]
0 if p(NC)=1 & X (01)[1=p(NN)] >0
o if P(NC)=1 &X, (0r)[1 - ONH*O
- w szng) 0 N?wg[ p (A N)] =
w+(1-w)xf(gl)[1-p(x,zv)] >n if p(AC)= M () [1=p(AN)] € (0, 1)
1 if p()\,C)ZO & N (0)[1-p(AN)] =0

again, a standard forward induction argument® solves the indeterminacy case
since the congruent type has no reason to deviate to a inefficient policy. Thus

0 if P 0) =1 & X0 [1-p (V)] >0
. i p(LC) =0 & X ) 1~ p (R N)] =1
(OB =hp=0)= ~[1=r(0)] if p(NC)=0 & MO [1-p(NN)] € (0,1)

m[1-p(X.C)]+(1-m)X7 (61)[1-p(X.N)]
1 if )\1 (61) [ p(X,N

~—
O

Now, we can analyze the citizens’ sequential rational behavior in each informa-
tion set.

1. Information set (6 = A,p=0) The expected continuation payoff the
citizens will get after they choose not to revolt is

VZ(a=0[6 =A,p=0)=p? (C|A,0)xA+(1 — p? (C|A,0))x0 = u? (C|A,0) A

Sequential rationality implies that the citizens will choose to revolt in (6 = A, p = 0)
if and only if

Vi a=16=A,p=0)>V%(a=0/0=A7,p=0) (A11)

2For example, we can apply the intuitive criterion of Cho and Kreps (1987).
3For example, we can apply the intuitive criterion of Cho and Kreps (1987).



ie.
a(6=A0Ap=0)=1<= X —n>p? (C|A,0)A <= n< X —u?(C|A,0)A.
(A12)

2. Information set (6 = A,;p=1) In this information set, the incumbent
dictator is removed from office by the selectorate; therefore, there is a new
dictator and thus the expected utility the citizens will get after they choose not
to revolt does not depend on the previous observation on §. Then, the expected
utility the citizens will get after they choose not to revolt is:

VZ(a=0[0=A,p=1)=7A+(1—m)0=7A. (A13)

Sequential rationality implies that the citizens will choose to revolt in (6 = A, p = 1)
if and only if

Via=1=A0,p=1)>V%(a=00=A,p=1) (A14)
ie.

a(@=Ap=1l)=1<=X—n>1A<=n< X -7A (A15)

3. Information set (6 =0,p=0) The expected continuation payoff the
citizens will get after they choose not to revolt is:

VZ(a=0|0 =0,p=0) =p?(C|0,0) A+ (1 - p?(C|0,0)) 0 = 0.

Sequential rationality implies that the citizens will choose to revolt in (6 = 0, p = 0)
if and only if

Vi(a=1/6=0,p=0)>VZ%(a=0[=0,5=0) (A16)
i.e. if and only if

a(0=0,p=0)=1<=X-—n>0xA<=n<X. (A17)

4. Information set (6 =0,p=1) In this information set, the incumbent
dictator is removed from office by the selectorate; therefore, there is a new
dictator and thus the expected utility the citizens will get after they choose
not to revolt does not depend on the previous observation on §. Because of our
previous assumptions, the expected utility the citizens will get after they choose
not to revolt is:

VZ(a=0[0=0,p=1)=7A+(1—7) x0=7A. (A18)

Sequential rationality implies that the citizens will choose to revolt in (6 = 0,p = 0)
if and only if

Vi a=16=0,p=1)>V%(a=0[=0,p=1) (A19)

ie.

a(d=0p=1)=1<= X -n>1A<—=n<X-—7A. (A20)



Thus, this analysis allows us to derive the following best reply correspondences
for each citizens’ information set:

A mSE_ [ 1 <X —p7(ClA0)A
a#=2,7=0) —{Onzx>uﬂmAmA <
sa(A0)f=1s
n< X UTMXCﬁﬂ,&Xyﬁﬂl—MXNH>O
- nSX[f%AC)] if p(AC)=0 &51 ) [1-p(AN)] =1
w1=p(A, . ~ - < . ~
USX_Tr[l—p(X,C)]-l-(l—Tr)Xiv(Gl)[1—p(X,N)}A if p(MC)=0 & X (01)[L—p(X\N)] €(0,1)
n<X A if 260 [1-p (A N)] =0
a~_mSR_ 1 n<X
a=05=0"={ § 1%
A ~_ySER_J 1 n<X-—-7A
a(d=Ap=1) —{ 0 5>X—1A
o~ \SR 1 n<X-—7A
a(0=0p=1) {0 N> X —7A

This analysis allows us to derive the following citizens’ sequential best reply
correspondences:

1. nel0,X —Al:

1 if (0=A,p=0)
e N 1 ’Lf (5 = Oa ﬁ: O)
a (6,7 = 1 af (6=A,p=1)
- B m[1-p(X,0)]
2 X A X R A o [ (V)]
(a) if X (01) [1—p (X N)] >0
1 if (6=A4,5=0)
sk} 1 if (6=0,p=0)
G =11 iF GoA=1)
1 if (6=0p=1)
b) if A () [1—p(NN)] =0
0 if (0=A,5p=0)
sk ) 1 if (6=0,p=0)
o (8,p) ™ = 1 if ((=A,p=1)
1 if (6=0,p=1)
3.ne X - m1-p(3.0)] A X —mA, |

ﬂ[l—p(X,C)]—&-(l—ﬂ'))\f] (91)[1—p(X,N)]



@ if p(NC)=1 & X () [1=p(AN)] >00rif p(},C)=0 &
) [1-p(LN)] =1

1 if (6=A5=0)
sk ) 1 if (6=0,7=0)
()" =1 if =Ap=1)
1 if (6=0,p=1)
(b) if p(NC)=0& Xy (61) [1—p(A,N)] € (0, 1) or if Xy (61) [1—p (X, N)] =
0
sk ) 1 if (6=0,7=0)
G =01 if GoA—1)
1 if (6=0,p=1)
4. ne[X —nmAX]:
(@) if p(LC)=1 & X[ () [1-p(\,N)] >0
1 if (6=A5=0)
. 1 if (6=0,p=0)
«@P7 =30 if G=ap=1)
0 if (5=0,p=1)
(b) if p(A,C)=0 or if /\1 ) [1—p(A,N)] =0
o (6.7 1 if (6=0,p=0)
A’ 0 if (6=Ap=1)
0 if (6=0,p=1)
5. n€[X,00)
0 if (5:A’ﬁ:0)
sr_ ) 0 if (6=0,p=0)
O™ =10 7 GoAr=D)
0 if (6=0p=1)

1.2. Sequential rationality of the selectorate

Let V¥ (p = 1| (A, T),a%%) be the expected continuation payoff for the se-
lectorate in (A, T) if he subverts the incumbent dictator and the citizens will
subsequently choose according to o, Note that in this case, the payoff does
not depend on (A, T"), since the dictator has been changed. Therefore, for any
(\T)e{0,1} x {C,N}

VS (p(\,T) = 1|aF) = (1 — aF) 7r><A—|—(1—7r)><0+¢><%+(1—¢)><0 +a R
= (1-a ) (rA + X)

as the type of the newly picked up dictator is unknown, she will produce A with
probability 7 and 0 otherwise. Moreover, both types of dictator will distribute



the entire social revenue to the selectorate, but the members of the selectorate
who ousted the dictator, with probability ¢, will be included in the successor’s
selectorate getting the patronage % in the second period. Given a(d, p)°%, we

get
s — 11.SRY _ 0 n € [0,X —mA]
V2 (p(0,0) = 1la )_{WAJFX 1€ [X — 1A, 00)
0 n € [0,X —wA]

vV (p(1,0) = 1]a®") :{ A+ X ne[X —7A, 00)

0 ne[0,X —rmA]
V¥ (p(0,N) =1|a5F) :{ TA+X ne[X—nA, 0)

0 n€0,X —rA]
V5<p<17N>1|aSR){ TA+X nelX A, o)

Let V¥ (p(X\,T) = 0|a®®) be the expected continuation payoff for the se-
lectorate in (A, T) if he supports the incumbent dictator and the citizens will

choose according to a(6, p)°F

V¥ (p(0,C) = 0]a"") = (1 - a”F) x <A - z)
VS (p(1,C) =0]a”f) = (1 - a”F) x <A + Z)

VS (p(0,N) = O|aSR) (1- ) x (i)
VS (p(1,N) =0[a”F) = (1 - a”F) x ({;)
Given a(8, p)° T, we get

Vs(p(O,C):0|aSR) { A_? UG[O,X]

E n € [X, 00)
VS (p(1,C) =0]a") =
0 ne0,X — A
0 e {X ax - e B Al R ) [1-p (L N)] >0
) 0 e [X - w[l_p(x,c)]zﬁiigﬂl)[1_p(x,N)] AX—aA| & XN@O)[1-p(N)] =1
) arx e {X cax - Bl Al R ) [1- (L)) =0
A+X qe [X = w[lfp(x,c)]giigﬂl)[17p(x,zv)]A’X —TA | & A @) [1-p (N N)] <1
A+ neX —nA, 0)
V5 (p(0,N) =0]aF) = { % nn:[[)g:i])

V¥ (p(1,N) = 0]a"F) =



0 neE [0,2( —A]
0 me [X —AX- 7r[1p(A,C)]:E_Zgii\?()Jl)[lp()\,N)]A:| &N (0)>0
ﬂ[lfp(X,C)]
0 ne {X I (RO FX TR T Py ”A’} &
& lp(he)=0&X =1]v[p(R0)=1& X >0|
0 neX —aAX] & p(NMC)=1 & Ay (61) >0
— Tr[lfp(X,C)]
x ne [X —AX _7;\[]1—p()\,0)]+(1—7r))\iv(01)[1—p()\,N)]A] &
&0 [1—p(N)] =0
elx— Al A x gl &
x " 1= (O (A= (00 [1—p (A N)] ’
& [p(xc) :o&xfe(o,l)] v [Xiv:o]
X neX —rAX] & p(LC)=0 Vv X (61)=0
% n € [X, 00)

Sequential rationality implies that for any (\,T) € {0,1} x {C, N}, the selec-
torate will retain the incumbent dictator if and only if:

VS (p(\T) =0[a*) >V (p(\,T) = 1|a”F) .
Then

Lif (A\T) = (0,0)

p(O,C|aSR):0®{ n € [0, X] 2{ 0 nel0,X Al

0
A+% n € [X, 00) TA+X ne[X—mA o00)
[0,1] 7ne€[0,X —7A]

@p(O,C|aSR)SR € { {1} nelX —7AX]
{0} 1 € [X,00)

0 ne0,X — Al
0 n€E [X ~AX - e C)]:(iig’lcwl)[lip(k 9 Al &XO)[1-p(WN)] >0
- 0 ne [X - w[l—p(x,c)]:([tigﬁi)[1—p(X,N)]A7X —TA| & N ) [L-p(AN)] =1 N
A+X gqe [X —AX - ﬂ[lfp(xyc)]:([iigfw]ﬂ[H(XN)] Al &X () [1-p(AN)]=0
Avd owe|x- et Gl Ak oA | & Wen -GN <1
A+ neX—nA, )

0 ne0,X —7mA]
| TA+X ne[X -7mA )



{0}

{0}
{0}

S p (1,C\aSR)SR €

nel0,X — A
€ {X —AX- Tr[l—p(/\,C)]:([i—ZEiivc(gl)[l—p(A,N)]A:| &) (0n) 1
< {X - w[l_p(x,c)]igiigfc()e]l)[1_p(x,N)}A’X - ”A’} & X
e {X —AX- Tr[lfp(X,C)]:([i::'Ei’f?zo]l)[17p(X,N)] A} & lev(el) 1
e {X - w[l_p(xc)]x:igﬂl)[1_p(m)]A’X - ”A’} &)
ne[X —7mA 0)

3. if (\,T) = (0, N)

p (0, N[eF) =0« {

0 nel0,X] - 0 n€0,X —wA]
% ne[X,00) = | TA+X ne[X-—rA )
[07 1} ne [OvX _ﬂ-A]

SR {1} ne X —7A, X]

{1} nelX,0) & ¢>

0} nelX.o0) & ¢><”A§X

TA+X

—p(A\N)]

>0

—r(AN)] =

= (A N)]

=0

—r (A N)]

f (A T) = (1,N)
p(l,N|aSR) =0&
0 n e [0,3( —A]
0 < [X AKX w[lp(x,c)}ig_igiﬂg[lp(A,N)]A} &N (01) >0
w[lfp(X,C)}
0 e {X AR - p(f X ”A’] N
& [p (% o)_o&m1 =1]v[p(r0) :1&X§V>o}
0 ne[X —7nA X] p(A,C) = 1&:/\1 (61) >0
¥ one|x-nx- ,r[l_,,@,cﬂii_iéiﬁi)[1_,)@,@]A} e X0 (1 ()]
_ Tr[l—p(x,C)] _
x ne [X ﬂ[l_p(x,c)]+<1_ﬂ)xf(el>[1_p(x,N)]A’X ”A’] &
& [p(x,c) —0& N € (0,1)} v [Xf:o}
% neX —aAX] & p(LC)=0 V A (6;)=0
3 n € [X’OO)
0 ne0,X — Al

|

TA+X ne[X—nA o00)

S (1,N|aSR)SR €

=0

<1

>



[0,1 WG[O,X*A}
. . Tr[lfp(X,C)] ~N
[0,1] € {X AX n[l—p(X,c)]+(1—w)X§V(91)[1—p(X,N)]A & A (61) >0
X eCol JAX-mA | &
0,1] me { I FHY We)  EN TS o i
&lp(hO)=0&X = 1}\/[;) ) I >o]
_ _ [1-p(3.0)] T N —
{0} me {X A, X w[1—p(X.C)[+(a—mAy (91 [1—p(Z.N)] CX (0) —r(AN)] =0
€ X — w[1-p(%, C)] Al &
(0} me { oGO =R O[T X
& {p(X,C) —0& A €(0,1)] v {Xl :0}
1} neX —mAX] & p(AC)=1 & X (6;) >0
— —N
{0} neX-—7mAX] & |p(AC)=0 Vv X (1) =0 ¢< =
m neX—aAX] & |[p(XC)=0 v Xf(e)—o $> X
{0} ne[X,00) & ¢< WA)?—X
{1} neX,0) & ¢ xrx
Hence, we can conclude that both the selectorate’s and the citizens’ sequential
rational behavior depend on the costs of revolting, on the selectorate’s de facto
power and on the citizens’ beliefs which, in turn, depend on the dictator’s and
on the selectorate’s behavior. To sum up:
1. when (A, T) = (0,C) then
Sk [0,1] nel0,X —7mA]
p (0,Cla )" € {1} nelX —7A X]
{0} 1€ [X,00)
2. when (\,T) = (1,C) then
p(1, C|aSR)SR €
[Oal UG[O,X*A]
_ o ‘n'[lfp(X,C)] —N _ _
[0,1] < {X A, X n[1—p(X,C)]+(1—W)X§V(01)[1—p(X,N)]A &x (1) [L=p (A N)] >0
_ m[1-p(X.0)] _ W AN =
c [0,1] < [X w[lfp(X,C)]Jr(lfﬂ)Xiv(t%)[17p(X,N)]AjX A, | & AL (B) [1 p()\,N)] -
_ B w[lfp(X,C)] ~N _ By _
{0y me [X A X = Ear e e | A @) - (W N)] =0
B ﬂ[lfp(X,C)] _ —N _ —
{0} € [X ﬂ[l—p(X,C”—i—(l—ﬂ')Xfl((‘h)[1—p(X,N)]A7X A | & A (6)[1-p(AN)] <1
{0} ne[X—-7A )
3. when (A, T) = (0, N) then
[0,1] n€0,X —mA]
1} ne X —rA X]
0. NloSE)F {
(0. Nle™) (I} nelXoo) & o2
{0} nelX,00) & ¢< 5%
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4. when (\,T) =

(1, N) then

p (1, NjaSF)*F ¢

[0,1] ne0,X — A
ﬂ[lfp(X,C)} ~N
[0, 1] € I:X N A’X N w[lfp(X,C)}F(lfﬂ')Xiv(91)[17p(x N)] A:| & )\1 (91) >0
m[1-p(3.0)]
0.1) ve [x AR oI5 AX”A} v
& [p(he)=0& X, —1}\/{,0 /\C)—I&Al >o]
{0} ne [X SAX - w[l_p(x,c)pE fr)icel) =G } & X (01)[1—p (N N)] =
€ _ m[1=p(X. C)] .
0} ve |x ﬂbdi@h«fﬂanhpawnA4¥ Al v
& [p(x,c):o&xfa )} v [Af_o}
{1} neX-rAX] & p(AC)=1& )\1 (61) >0
{0} nelX—mAX] & [p(NC)=0 v X (0) =0 & o<
(1} nelX—mAX] & [p(NC)=0 v X (0)=0| & ¢> <
{0} ne[X,00) & quﬁA;X
{1} neX,0) & o2 Xk

An alternative, possible more useful way, of writing the selectorate se-
quential best reply is distinguishing regions in the space (1, ¢) € [0, 00) x [0, 1]
and players choices:

L (1,6) €0, X — A} x [0,1] :
0,1 (\T)=(0,0)
s 0,1] (A T)=(1,C)
p (A T|a®F) RE{ 0,1] (\,T)=(0,N)
[0,1] (A\T)=(L,N)
() € | X —A X i p(AC)HE,iE%\’C()J)p p(X N)]A x [0,1]
(a) if X (r)[1—p(AN)] >0
0,1 (\,T)=(0,0)
0,1 (\T)=(1,C
p()\,TaSR)SRG{ %0,1} ((A,T))zgo,N))
0,1 (\,T)=(1,N)
(b) if X () [1=p (W N)] =
0,1 (A\T)=(0,0)
{0} ()‘7T) = (1)C>
p(\,T|aSR)* 6{ 0,1 (A\,T)=(0,N)
0} (AT = (LN)

wfi-r(3.0)]

7'r[1—p(X,C)]+(1—7‘r)XfI(01)[1—p(X,N)]

3. (n,¢) e | X — A X —mA| x[0,1] :

11

0



20 =0& X =1]v[p(AC) =1& X > 0|

1 and [p(

A N)]

(ro) [1=p(

~N
1

(a) if A

O ==
SRR
o
NNERKN
222

o~ o~
S oo

p (A,T\aSR)SR € {

e@ﬂv

~N
1

) =0& X

A C

)] = 1 and [

ANN

(r) [1—p(

A~~~
VO ==
S S~
N N e

I T T
~S A~
SESESES)
<<<<
— N e
=
~ O
2.2~

p ()\,T\aSR)SR € {

U= =
SZSs
[ I |
SEEE
< < <<

— —

€ (0,1)} v

~N
1

)=0& A

A, C

(r)[1=p(XA,N)] €[0,1) and [p(

~N
1

) if

I~ NN

SESEE]

X .
7TA+X:| .
(91) >0

4wmmaxﬂﬂxw@,

~N
1

P

CL==

0

(b) if p(XC)=0 v X' (6)

12



5. (n,¢) € [X — 1A, X] x [ﬁl] :

3 ook
SR ’ S
p(MT)Re ) 1y (T = (0.)
{1} (\T)=(1,N)
6. (1,9) € [X,00) x [O’ﬁ]:
B £2-00
SR L) =
(T e 3 ) ol
{0} (A\T)=(1,N)
7. (n,9) € [X,00) x [ﬁ’l]:
8 g6
SR L) =
p(ATI) "€ ¢ ) (1) = (0. M)
{1} (\T)=(,N).

1.3. Sequential rationality of the dictator

1.8.1. A comprehensive view of the selectorate’s and of citizens’ sequential ra-

tional behavior

Let sum up the selectorate’s and the citizens’ sequential rational behavior
as a functions of the parameters (1, ¢) € [0,00) x [0, 1] and of the selectorate’s
and leader’s possible behavior.

1. (n,¢) €10,X —A] x [0,1] :

0,1 (A\,T)=(0,C)
s 0,1] (A\T)=(1,0)
pOTI™ e 4 0 (V) = o)
0,1 (A\,T)=(L,N)
1 if (3=A,5=0)
sr_ )1 if (3=0,p=0)
a(6,p) =4 | if (5:A,pﬁ=1)
1 if (6=0,p=1)
2 (16) € |X = A X — e & % 0.1
(a) if A () [1=p (A N)] >0
0,1] (A1) =(0,C)
s 0,1 (A\T)=(1,C)
P TI e S ) Z 0w
0,1 (\,T)=(1,N)
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N~ —

S o~
[T T
(U (U(a
qoqc
[
o R R

o= =

PR

CU==
S = S =

N~ —

S o~
([T |
(U (.

qoqc

)]A,X—ﬂ'A] x [0,1] :

w[lfp(X,C)]
Tr[lfp(x,C)}Jr(lfTr)Xf](Ol)[lfp(X,N

3. (n.¢) € [X—

NC) =1&X > 0]

1}v[p(

N
1

AC)=0& A

(01) [1—p (X, N)] =1and [p(

N
1

(a) if

L= =
SRRl
[
SEES
S25

N~ —

S o — '~
oy oy
(QU(a (U (a
4o Qo
o

o R R

((((
PEheR e

— o~ o~

a@m”{

(r) [1—p(

€ (0, 1)] v

~N
1

A C)=0& A

)] =1 and [p(

AN

~N
1

(b) if

A~~~ N
VO ==
S =3~
S N e

([ |
NEEE
< < <<

—
A

s, O
2.2.2.-

p (A,T\aSR)SR € {

N~ —~

O o — '~
([T T
(R (a
Qo qo
g

o R

((((
Soe

O~ —

———
I
ot
)
=
=
3

X,O):O&’f:@ v

(r)[1=p (A N)] € [0,1) and [p(

—N
1
PO =1&X >0]

(¢) if A

—~ o~~~
VO ==
S = S =
S N e

NEER
< < <<

—_ — e —

{0}

ey
S ~3.S

p (A T|a58) " ¢ {
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e (0, 1)} v

Z
7 A~~~
NN TN N NN TN N NN TN N
e =3 Cyc,NaNa ST~ DO == S0~ VO == S0~ (CROR==<
< - o SHAalSAs < — S = S = e — S —H S = <o - S = S =
TR | I ~~ 0 Iy =—= I I =—= I ) Iy = —=
Q@ T e [ IR CRTR R I T A O R O, o
3 > C T 1T =A== N <A = NS~ A= NS A~
VI & 2233 G 3255 00T 3R5% UINT 0 4 5555
S—
E 278 ) SO )
- - A —
— ——— ——— —
O~~~ _— oA~ L <@ oo 9 o— oo .. !
N =) w N , — A W N ol W N , — W
w @ XD & = & -2 &
& = & & €2 & & = & & S &
P 5 2 P sl “ R ” N “
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< = ~ < « =3 & s > [ o L ~
3 T < 3 o o~ = Kl o = = o o~ =
— Q ol U Il S8 ol SY
Al 4 — — 4 —
\Wl/ = e O Q e O
Z — — —
< = TR Q X
|=<
— v o = v
— < ~ — < ~
= < = 2 SR
S~— S~—
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~ 1 if (6=0,p=0)
6.7 =1 if sz%:n
0 if (6=0p=1)
b) if p(AC)=0 or if A (B)[1—p(LN)] =0
© =10
SR 5 = 3
pATIZEEN 1) (Um) = (0N
{1} ()‘7T):(17N)
0 if (6=A,5=0)
. 1 if (§=0,p=0)
UDM 0 if @zA%:U
0 if (6=0p=1)
6(m@6ﬁﬂ®quﬁﬁy
o anzhg
SR ,T) = (1,
pATIZEN o} (V1) = (0.
0 if (6=A4,p=0)
~ 0 if (6=0p=0
a(6,p)™" = 0 if &:A%:&
0 if (6=0p=1)
7. (1,6) € [X,00) x |75 1]
o oneo
SR s = y
pATITENE e ) (U= (0,)
1 (\T) = (L,N).
0 if (6=A,5=0)
_ 0 if (5=0,p=0)
0D =00 i Goas-1)
0 if (6=0,p=1)

Let we sum up the selectorate’s and the citizens’ sequential rational behavior
as a functions of the parameters (7,¢) and of the selectorate’s and leader’s
possible behavior.
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1. Suppose Xf[(rl) [1 —p (X, N)] =0 then the players’ sequential rational
best reply correspondence are
L. (77)¢) € [07X_A] X [07 1] :

0,1] (A\,T)=(0,0)
BR [0, 1] ()\,T) = (LC)
p (X TlaP)"" e { 0,1] (A, T) = (0,N)
[0,1] (A T) = (1,N)
1 if (6=A,5=0)
R 1 if (6=0,p=0
a(é,p)BR{ 1 if ((5=A,pﬁ=1))
1 if (6=0,p=1)
*li—p(XC
2. (m¢) €| X —AX - w[l_p@,c)]ﬁ-ﬂgxf(§1>[l—p<X,N>]A <o
0,1 (\T)=(0,C)
Sk {0} (\T)=(1,0)
p (A TIa%H)" e { 0,1 (A\T)=(0,N)
{0}  (A\T)=(1L,N)
0 if (6=A,p=0)
; 1 if (0=A4,p=1)
1 if (§=0,p=1)
3. (n,¢) € | X — ﬂ_[1_p(xyc)]:([1::.();,f?v(£]l)[1—p(X,N)]AaX —7mA| x[0,1] :
0,1 (A\,T)=(0,C)
SR {0}  (\T)=(1,0)
p (A T|a®)"" e { 0,1] (\T)=(0,N)
{0} (A\T)=(,N)
0 if (6=Ap=0)
R 1 if (6=0,p=0
a(6,0)™ =1 | if ((5 = A,%: 1))
1 oif (6=0,p=1)
4. (n,¢) € [X =74, X] x [O’ WA{X}
3 6n-eg
SR ’ = (1,
p(ATI™)™ e ¢ vy (V1) = (0. M)
{0y (AT)=(1,N)
0 if (6=A,p=0)
. 1 if (6=0,p=0)
a(ép)SR{ 0 if (5=A,%=1)
0 if (6=0,p=1)



2. Suppose lev(gl) [1 —p(X, N)] € (0,1) then the players’ sequential

rational best reply correspondence are
L (n,¢) €[0,X —A] x[0,1] :

p (/\,T|045R)SR € {

NSNS
e

1 if
a6 =41
1 if

2288

PO =0

>
obo b
V) v)y V) )
e

—_

—~
>

~

N—

LI TR
—
203

%)b>%>

[Shskele
EERE
22020

= oo

A
SY

—
(%)

ocbeob
V) o)y V) )

—~
>

[t
oo



(r1)[1=n(

N
1

ﬂ[lfp(X,C)]

ﬂ[l—p(X,C)]-‘r(l—ﬂ)X
p ()\,T|aSR)SR € {

2. (n,¢) € [X—A,X—

o~~~

| I T
TN AN
NEEER
~=<<<
N

N o~ o~
=N=N=N=}

TN~ o~

S o~

~~ N
VO ==
S—= S~
— S

—

N~ —~

S o

N~ —~

S o~

(U (U (. (U (U (a
E=-R=} E=E=]
[ [
SRSACHG SRCACRS)
el el
N = = O o
I Il
= @
93] 195]
(Y (x
= <
1 I
— —
QO Q
< <
SN— SN—
QL QU
~ o
N "3
= =)
SN— S—

N~ —~

O o — '~
([T ]
(U (U (.
E=Rd=)
[

o R

_ =

N — T~

S o~
([T |
(U (.
E=Ed=)
It

o R R

—_ =

=Tl =onl
— - O O o — O O
I [
x x
n n
(Q (Q
< <
3 o 3
I
—
QO
|<
SN—
QU
S
e
=)
S—

(a) if p(X,C’) =1
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B 4n-e2

SR ’ = \h
p (N, T|")" " € {1} (\,T)=(0,N)
{1} (\T)=(1,N)

(a) if p(X,C) =
1 if (6=A,p=0)
sr_ )1 if (6=07p=0)
aﬁm%{o i GoAso)
(b) if p(A,C)=1
0 if (6=A,p=0)
~ 1 if (6=0,p=0)
a@m“{o AN
0 if (6=0,p=1)
6. (n,9) € [X,00) x |0, 73]

9 4Hzeg

SR L) =L
p (AT )€ 4 1oy (A1) = (0.V)
{0} (A\T)=(,N)

0 if (0=24,5=0)

a(5/\)SR { 0 if (0=0,p=0)

0 if (6=A4,p=1)

0 if (6=0,p=1)

1 ,

{1} (\T) = (1L N).
o¢§ %:Aﬁ:?
R 0 i —0,5=0
«@D™ =00 i G-Ap-1)
0 if (6=0,p=1)

3. Suppose Xiv (r1) [1 —p (X, N)] =1 then the players’ sequential rational
best reply correspondence are
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1. (n,6) € [0,X — A] x [0,1] :

NN
VO =
S =S~
~— T
(I I T
NN A~
SESESES
<<=
S N e
===
=N=N=N=)

p (A T|a58) % ¢ {

N~~~

S o

w[l—p(X,C)]

o~~~

T
NN A~
SESESES
<=xX<<
S N e

o~ o~
=N=N=N=}

P ()\,T|aSR)SR € {

S o -

)]A,X—’ITA:| x [0,1] :

e
W[lfp()\,c)}Jr(lfﬂ'))\f](Tl)[17P(}\,N

3. (n,9) € [X—

I~
VL= =
S = S~
~— T
1 I T
NN A~
SESESES
<=<<
S N e
===
=N=N=N=)

p ()\,T|aSR)SR € {

N~ o~

S o

A~~~ N N
VO ==
SH S~
e

(a) if p(A\,C)=1

N~ —

S o~
([T |
ApApApAp
SE=R =]
I

o R R

((((
LIERT

— — O O
N———
Il
&
9]
(5%
=
3

21



N~ —

O o~
LI T
(U ((a
d=Ed=)

A~~~
VO =Z =
S =S~
T

(a) if p(X,C) =1

N~ —~

S o~ -
oy oy
ESCRCREY
qoqo
o

o R R

—_ =
et

— — O O

a@m”{

N~ —~

S o~
([T I
(U (U (a
g4 qqc

X
TA+X

6. (1,6) € [X,00) X [0,
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1.8.2.  The equilibrium behavior of the non congruent dictator

We should distinguish seven regions in the space (n, ¢) € [0,00) x [0,1].

1. Case (n,¢) € [0,X — A] x [0,1] In this region

0,1] (A\,T)=(0,C)
SR 0,1 (A\T)=(1,0)
p (A T|a®)"" e 0,1 (A\,T)=(0,N)
0,1] (\T)=(1,N)
1 if (6=A,p=0)
R L if (6§=0,p=0)
a(d,p)" =1 | if (5=A,%=1)
Loif (6=0p=1)

Now, consider the non-congruent dictator’s expected payoff following the simple

—N
strategy A (61) = 0 given the subsequent sequentially rational choices of the
other players: she would get

_ X
EUN (AN(Gl) =0[p°*, aSR) =n+g

while any deviation to X{V (01) > 0 would generate the payoff
~ - X\ ~ X
EUY (3 (61) > 0p°%,a5%) = (1= X (0n)) (m + ¢> + AV (01) (A - ¢>>

which is always smaller, hence we get the following result

LEMMA 1. When (n,¢) € [0,X — A]x[0,1] there is a continuum of outcome
equivalent Sequential Equilibria:

—C —N
At (91) =1, N\ (

£
S

-
|

=

0,1 (A7) =(0,C)
0,1 (A\T)=(1,0)

PN €N 0] (A1) = (0.V)
0,1 (\T)=(1,N)

1 if (0=24,p=0)
S_)1if (3=075=0)
a(d,p) =1 if (5=A,%=1)
L if (6=0,p=1)

T (6,p) = (A,1)

copn=1 7 EnZ6n
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A[1-p(30)] A

— — — x (0,1
m[1-p(X.C)]+(1-m)AT (61)[1-p(X.N)] [0,1]
Now, consider the non-congruent dictator’s expected payoff following the simple
strategy

2. Case (n,¢) € {X—A,X—

N (01) =0:

Then .
p (0,N[a®F)"" € [0,1] and e (5 = 0,5 € [0,1)"" =1

since when Xfr(rl) 1—-p(AN)| =0

p (A, T|a"") e

and

I
=l

Il

b
)y D)

Il

=

a (6,5 =

e =)
~
~
SIS
I

|
—_
Naw

thus she would get

N X
BUN (X (00) = 0", 0"") =i+

while any deviation to X{V (61) > 0 would generate the payoff
o if p(X\,N)€l0,1)

BUN (X{V(el) > 0|pSR,aSR) = (1 - X{V(ol)) (7’1 + §>+X§V(el) (A n i)

since in this case

0,1] (\,T)=(0,C)
s 0,1] (\T)=(1,C)
p(ATIa") ™ e [0,1] (A1) = (0,N)
0,1 (A\T)=(LN)
1 if (0=A,5=0)
. 1 if (6=0,p=0)
@R =0 oA
1 if (6=0,p=1)

—N
thus, we get an equilibrium with A (1) =0
o if p ()\, N ) = 1, we have an inconsistency since in this case

TR e

SR £ )= L

pNTI™)" € 4 101 (AT = (0. N)
{0y (\T)=(1,N)

24



0 zj; ((%:A,ﬁ:o))

SR _ ) 1 4 =0,p=0
a@PTT=N 1 if G=ap=1)
L if (0=0,p=1)

thus with probability A (6;) we have p = 0.
Hence we would get the result that when (n, ¢) € [X —AX —

ﬂ[l—p(X,C)]

m[1-p(X.C)]+(1-m)A7 (61)[1-p(X,N)]

[0,1] there is a continuum of outcome equivalent Sequential Equilibria:

however note that in this case the interval {X —AX —

—C _
AL (6) =1,

)S’RE

p (A, T|a "

) 2 o)
I

bob

a(6,p)"

e =)
()

e e

Peb o
Z =

o
=

w?(C6, p) =

=
=)
=

ﬂ[lfp(X,C)}

W[l—p(X,C)]-ﬁ-(l—ﬂ')Xi\l (91)[1—p(X,N)]

would shrink to a single point n = X — A, hence the case would actually disap-
pear.

ﬂ'[lfp(X,C)]

9. Case (n,0) € |\ X = i e AT 00 L= (V)]

A X —

7A|x[0,1] :

Consider the non-congruent dictator’s expected payoff following the simple strat-

cgy

N (0) =0:

Then

p (0, N]a)*™ € [0,1] and a (6 = 0,5 € [0,1))PF =1

since when Xf’(rl) 1—p(A,N)| =0

and

0.1 (\T)=(0,C)
Sk {0}y (\T)=(1,C)
p (A TJa®)"" € 0,1] (A, T) = (0,N)
{0}  (\T)=(1,N)
0 if (5=24,p=0)
. Lif (6=0,p=0)
a(6,p) =14 ] if (6= A,%Z 1)
L if (6=0,p=1)

A

X



thus she would get

while any deviation to MV(6,) € (0,1) would generate the payoff
e if p(A,C)=0

BUY (W) > 07, 05) = (1= R 00) (ra+ 5 )43 (84 5 4 Bl + 5 )

since in this case

a(6,p)"

0.1] (A
AT SR\SE [{0}] EAa
POTIT TSN o)
O

0

1

1

1

if (5=,

V) o) V)oY
I
—~ 2 o

|
—
S~—

Thus we get an equilibrium with Xiv(rl) = 0 if and only if

r1+§2 (1—X{V(r1)) <r1+2§)+X{V(r1) <A+§+E(r2)+§> &

& AN () <r1 + 2§> > AN (r) <A + % + B (r2) + i) < r1+% > A+%+E (r2)+§ =

X
<:>T12A+E(T2)+g

which has probability
X
1—G<A+E(’I‘2)+¢>

o if p (X C’) = 1, we have an inconsistency since in this case

0,1] (A, T)=(0,C)
SR {0} (\T)=(1,0C)
PTIETEN 01 vy = (00)
{0} (AT)=(LN)
0 if (6=A4,p=0)
. 1 if (5=0,5=0)
CCPT=N 1 i G-ag-)
1 if (6=0,p=1)
thus with probability A (6;) we have p (A, C)=0



o if Xiv(rl) [1-p(A,N)] €[0,1) and [p (NC)=0& Xiv = 1] then her
payoff is

EUN (lev(rl) = 1|pSR,aSR> = (A + X + E(r2) + ‘;f)

since

0
a(6,p)" =

0.1 (A
AT SR\SE [{0}] EAa
POTIOT) TE 0 (o
(A,

1
1 if (6=A

1 ;

V) o) D))
I
—~ = o

I
—
S~—

Thus we get an equilibrium with Xf[(rl) =1 if and only if

X X X X
TI+EZA+E+E(T2)+E<:>T1ZA+E+E(T2)

which has probability

1—G<A+E(T2)+2§>

so that we get the previous equilibrium and we can conclude with the
following lemma

. TI'/)(X,C) _
LEMMA 2. When (n,¢) € [X Wp(X,C)+(17W)Xiv(r1)p(x,N)A’X wA} %[0, 1]

there is a unique Sequential Equilibrium such that

—C _ —N B . {
) =1, X <m>G<A+E< )+ ¢>

0,1 (A1) =(0,C)
{0} (\T)=(10)
p(Ta"") ™ € { 0.1 (\T) = (0,N)
{0} (\T)=(1,N)
. 1 if (6=0,p=0
a9 =1 if &=A%=$
1 if (0=0,p=1)
: e
7 _ ™ P) = 071
M (C|67p) - w+(1—w)G(£+E(T2)+%) (57p):(A,0)
0 (8.p) = (0,0)
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4. Case (n,¢) € [X — A, X] x [0, ﬁ] Consider the non-congruent

dictator’s expected payoff following the simple strategy
—N
A (61)=0

Then .
p(O,N|aSR) —landa(0=0,p=1)"%=0

since when lev(ﬁl) =0

o 1) - (1.0)
SR 0 , )= (1,
PTITHTEN 1y vy = o)
{0y (AT)=(LN)
0 if (6 =Ap= O)
~sr_ ) 1 if (6=0,p=0)
@PT=0 0 if @=ap=1)
0 if (6=0p=1)
thus she would get
_ X
EUYN (Af(@l) = O|pSR,aSR> =r+ Py
while any deviation to AV (6;) € (0,1) would generate the payoff
e if p(X,C) =0
~ ~ X\ ~ X X
BUN (N (r1) > 0105, 057) = (1= 3 (m)) (7"1 + ¢)+AIN(T1) (A tg B ¢) :
since in this case
{0 )~ (1.0)
SR 0} (\T) = (1,
P TITHTEN 1y vy =)
{0y (\T)=(1L,N)
0 af (5 =A,p= 0)
SR 1 if (60=0,p=0)
@@= 0 if G=nAp=1)
0 if (5=0p=1)
Thus we get an equilibrium with Xiv(rl) = 0 if and only if
X ~ X ~ X X
1+ E > (1 - )\{V(Tl)> (7"1 + ¢) + )\le(rl) (A + g +E (7"2) + ¢) <
= X{v(’l"l) <’I"1 + A;(> > }\']1\/(7“1) (A + % +FE (7”2) + Z) = T1+§ > A+%+E (T2)+% &
&y ZA—i-E(rg)—&—{

¢
which has probability

1—G<A—|—E(r2)—|—2§>
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o if p (X C’) = 1, we have an inconsistency since in this case

o Anses
SR 4 )=
pATI™) ™ e it (A1) = (0. M)
0 if (0=A4,5=0)

~ 1 if (5=0,p=0)
(5,)°" = 0 if (5:A,[,)6=1)
0 if (6=0,p=1)

thus with probability 1 we have p (X,C) = 0.
Then, we can conclude with the following lemma

LEMMA 3. When (n,¢) € [X —7A, X] x [0, ﬁ} there is a unique Se-
quential Equilibrium such that

K =1 X =6 (a+ B0+ )

o} 1)~ (1.0)
SR T) = (1,
pATIT) ™ eyt (A1) = (0. M)
{0} (AT)=(LN)
0 if (0=A,p=0)
~ 1 if (5 =0,p= 0)
a7 =1 if (6=A,%=1)
0 if (6=0,p=1)
w e
. B ,p)=1(0,1
w(Clo,p) = ﬂ+(17ﬂ)c(£+E(r2)+%) (9,0) = (A,0)

5. Case (n,¢) € [X —7A, X] x {ﬁ,l} Consider the non-congruent
dictator’s expected payoff following the simple strategy

—N

Then

since when lev (01)=0

by (=0
SR 4 )=
pATIT) ™y 1ty (A1) = (0. M)



0 ZJ; (&: A,ﬁ:()))
sn )1 —0,5=0
«GRT =N 0 if p=ap=1)
0 if (6=0,p=1)

thus she would get

—N X
EUN(M(m)zomﬂéa“ﬁ:=m4-g

while any deviation to AN(61) € (0,1) would generate the payoff
o if p ()\, C ) =0

BU (3 () > 0% %) = (130 00) (r + 5 4300 (24 )

since in this case

4 6000
SR 4 )=
p (N TaF)"" € {13 (\,T)=(0,N)
{0} (\17)=(1,N)

0 if (6=A4,5=0)

~ 1 if (§=0,p=0)
a6 =3 o o SZARZY)

Thus

7N ~
ECﬂV(Al(Hl)::mpSR,aSR) ZAELﬂV(Af(TQ >(npSR,aSR)

—N
and we get an equilibrium with A; (r1) = 0.
o if p ()\, C’) = 1, we have an inconsistency since in this case

0 (1) - (1.0
SR ’ —\5
P (A’ T|OKSR) € {1} ()\, T) = (07 N)
{1} (A\T)=(L,N)
L if (6=4,p=0)
_ L if (6=07p=0)
a(8,p)" = 0 if (6:A,%=1)
0 if (6=0p=1)

thus with probability 1 we have p (X, C) =0.
Then, we can conclude with the following lemma

LEMMA 4. When (n,¢) € [X — 7A, X] X [ﬁ, 1} there is a unique Se-
quential Equilibrium such that

~C ~N
)\1 (7“1) = 1, )\1 (7“1)0
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o Anseg
SR 2= A
P (AT )" e ¢ ) (A1) = (0.)
{0} (\,T)=(1,N)
0 if (6=A,p=0)
~ 1 if (6=0p=0)
a(8,p)°" = 0 if (5:A,[/)3:1)
0 if (6=0p=1)
e
T (8,p) = (0,1
p?(Clo,p) =4 | (5,Z)=(A,0)

6. Case (n,9) € [ X, 00) x [0, ﬁ] Consider the non-congruent dictator’s
expected payoff following the simple strategy

(0 =0

Then .
p (0, N[e®)"" =0and a (6 =0,p= PR =0

since when lev (01)=0

0 omou
SR L) =D
p (AN T]a%F)"" € {0} (\,T)=(0,N)
{0} (\T)=(1N)

0 if (6=A,p=0)

- 0 if (6=0,p=0)
a6 =3 o 1 SIZARTY)
0 if (6=0p=1)

Thus she would get

while any deviation to AY(6;) € (0,1) would generate the payoff

BUN (XY (r1) > 0057, 0%%) = (1 -3 (r1)) ( + {;)w (r) (A + 2B () + fj) ;
since in this case
o An-ee
SR R = R
p(TIO")€0 oy (1) = (0, N)
0} (\T)=(LN)



0 1]; (((;:A,ﬁ:()))

~SR _J 0 1 =0,p=0
@@= 0 if G=ap=1)
0 if (6=0p=1)

Thus

7N ~
EUN ()\1 (6,) = 0|pSR,aSR) > EUY (A{V(rl) > O\pSR,aSR)

and we get an equilibrium with Xf[(rl) =0.

LEMMA 5. When (n,¢) € [X,00) X [0, TrA)iX} there is a unique Sequential
Equilibrium such that

A (r) =1, A (m)o
i 2p-6g
SR L) = AG
pATIT) ™€ 3 tor (A1) = (0. )
0 if (6=4,p=0)
_sr_ ) 0 if (5=05=0)
a(8,p)°" = 0 if (6=A7%=1)
0 if (0=0,p=1)
™ Eg,pingal))
T s =(0,1
p?(Clo,p) =4 | (&lp)):(A’O)
0 ((S’p):(0,0).

7. Case (n,¢) € [X,00)x ﬁ, 1] Consider the non-congruent dictator’s

expected payoff following the simple strategy

X (61) =0
Then
p(0.N]a"") ™ = Land a (6= 0.5=1)"" =0
since }8{ 8,;; = E(l),gg
SR 14 )=

p (N T|a)"" € {1} (A, T)=(0,N)
{1} (\T)=(1,N).

0 if (§=24,p=0)

R 0 if (0=0,p=0)

a(6,p)" = 0 if (5=A,%=1)

0 if (6=0,p=1)

Thus she would get

—N X
EUN ()‘1 (61) = 0|PSR7 CVSR) =71+ E



while any deviation to AN (6;) € (0,1) would generate the payoff
- - X\ ~ X
B (R () > 0% %) = (130 00) (r+ 5 ) + 100 (24 5

since in this case

o Gaoes

SR ) = \5H
pNTI) R  HY ) = (0.
{1} A1) =(N).

0 if (0=A,p=0)

~ 0 if (6=0,p=0)

o (8,p) " = 0 if w:AEZD
0 if (6=0,p=1)

Thus
7N ~
ELﬂV(Al(al)::mpSR,aSR) z.ELﬂV(Af(rg >(npSR,aSR)

and we get an equilibrium with Xiv(rl) =0.

LEMMA 6. When (n,¢) € [X,00) x |:7TA)5rX7 1} there is a unique Sequential

Equilibrium such that
70 —
A (r) =1, Ay ()0

o pmseg

SR )=
p(NTI) R 1Y ) = (0.
{1} (\T)=(1,N)

0 if (6=A4,5=0)

- 0 if (0=0p=0
a(6,p) =1 if ((6=A,p/7=1))
0 if (6=0p=1)

T Gn=0)

e 5 = 0’1

p?(Clo.p) = q 4 (3, Z> = (4,0)

We can conclude with the following result:

PROPOSITION 1. The game describing the interaction between a fully in-
formed selectorate and incompletely informed citizens has the following Sequen-
tial Equilibria:

1. When (¢, ) € [O,i] X [O, ﬁ} there is a unique Sequential Equilibrium

X
such that s N
A (B1) =1, Ay (61) =0
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there is a unique Sequential Equilibrium

oo o o {_|_

a(0,p)°" = {

—

TA+

=
<
QO

S~—

u?

2. When (¢,6) € [0.4] x |

such that

g 1o
(U (.
4o Qo
oo

o R R

o= O —

Soe

OO OO ———
———
I
X
P
(SN
=
3

~—_ T —

([ .
NN NN
QA QL Q
<SS S

— — — —

E kE—O

#?(C15, p)

} there is a unique Sequential Equi-

X
TA+X

]x[o,

1

X' X—mA

1

3. When (¢,¢) € {
librium such that

)

X
¢

G(A+E&@+

(61)

N

1

L

(61)

~C

1

(U (.
43Sa4c

o R R

((((
Soe

o - O O

—~
=R
NSNS

= (07 0)

(6, p)
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4. When (¢, 9) € [%,XJNA] X [ﬂAﬁX,l} there is a unique Sequential Equi-
librium such that

N0 =1, X (61)=0
3 6n-eg
SR )=
P (L T)™E e 1y (T = (0.)
{0} (A\,T)=(1,N)
0 if (0=A,p=0)
sk} 1 if (6=0,p=0)
a(5,p)°" = 0 if (6= A,pﬁ: 1)
™ Eg,p;:EAal))
o m yP) = 0’1
p?(Clo,p) =14 | (9,p) = (A,0)
0 (6,0) = (0,0).

rium such that

N0 =1, A (6) =G (A + E(r2) + §>
0,1 (A\T)=(0,C)
SR {0}y (\T)=(1,0)
p (A T|a®)"" ¢ { 0,1 (A\,T)=(0,N)
{0y (A1) =(1,N)
0 if (b=A,p=0)
sr_ ) 1 if (6=0,p=0)
a (8,9 = 1 if (6= A%: 1)
1 if (6=0,p=1)
: e
7 B ﬂ' yP) = 071
w(C10,p) = 7r+(177r)G(£+E(r2)+%) (0,p) = (4,0)

6. When ((,9) € [ﬁ, 1} x [0, 1] there is a continuum of outcome equivalent
Sequential Equilibria:

N (01) =1, Xy (61)=0

[0,1] (A\T)=(0,C)

[0,1] (A\T)=(1,C)

pAT)EN 0] (AT) = (0.)
0,1 (\T)=(1,N)

1 af (5:A’ﬁ:0)

)1 if (5=075=0)
a(0P) =93 1 if (6:A,/,)6:1)
1 if (0=0,p=1)

w
at



: gy
p?(Clo,p) =14 | (s, Z) ~(4.0)
0 (4,p) = (0,0).

From this proposition, it is immediate to get the following corollary.

COROLLARY 1. 1. When ((,¢) € [0,%] x [07 ﬁ} there is a unique
equilibrium outcome such that

Ny =1, A(@)=0, 5=0, a=0

2. When (¢, ¢) € [0 1] X [ﬁ, 1] there is a unique equilibrium outcome

5
such that s N
/\1 (91) =1, /\1 (‘91) =0

. {0} prob w
pe{ {1} prob 1—n=

a=0
3. When(¢, ¢) € [X,X ﬂA} X [O, ﬁ} there is a unique equilibrium out-

come such that

| oy prob (1 )G(A+E( )+§)
S
{1} prob 14)[ G(A+E(r)+%)]

Yoy =1, W) =¢ <A +E(r) +

&\N

4. When (¢, 9) € [%,X_lﬁA} X [WA+X, 1] there is a unique equilibrium out-

come such that s N
AL (r1) =1, Xy (r1) =0

. {0}  prob =«
pE{ {1} prob 1—m=

a=0
5. When (¢, ¢) € ﬁ,ﬁ} x [0, 1] there is a unique equilibrium outcome
such that x
c —N
1 (01):1, )\1 (91):G<A+E(T2)+¢>

R {0}y prob 7r+(177r)G(A+E( )+§>

€
[0,1] prob (1 —m) [ (A+E +%)}
(A+E &)

R {0} prob 7+ (1—7m)G
ac
1 prob (1—7r)[1—G(A+E 2)

+ —|—
o= o

N——"
[E—
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6. When ((,9) € {ﬁ, 1] x [0, 1] there is a unique equilibrium outcome such

that . N
AM(B)=1, A (61)=0, pel0,1], a=1.
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